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x	
  =	
  123

y	
  =	
  0.5

s	
  =	
  “hello”
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struct	
  person	
  {	
  
	
  	
  	
  	
  char	
  	
  name[20];	
  
	
  	
  	
  	
  int	
  	
  	
  age;	
  
	
  	
  	
  	
  floor	
  height;	
  
};	
  

struct	
  person	
  p1	
  =	
  {“Taro”,	
  23,	
  170.0}	
  

p1.height	
  =	
  171.0	
  

(person)	
  
	
  	
  .name	
  	
  	
  =	
  (str)	
  
	
  	
  .age	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  =	
  (floor)	
  

p1	
  
	
  	
  .name	
  	
  	
  =	
  “Taro”	
  
	
  	
  .age	
  	
  	
  	
  =	
  23	
  
	
  	
  .height	
  =	
  170.0	
  



(person)	
  
	
  	
  .name	
  	
  	
  =	
  (char)	
  
	
  	
  .age	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  =	
  (floor)	
  

p1	
  
	
  	
  .name	
  	
  	
  =	
  “Taro”	
  
	
  	
  .age	
  	
  	
  	
  =	
  23	
  
	
  	
  .height	
  =	
  170.0	
  

p2	
  
	
  	
  .name	
  	
  	
  =	
  “Jiro”	
  
	
  	
  .age	
  	
  	
  	
  =	
  19	
  
	
  	
  .height	
  =	
  165.0	
  



(Person)	
  
	
  	
  .name	
  	
  	
  =	
  (char)	
  
	
  	
  .age	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  =	
  (floor)	
  

p1	
  
	
  	
  .name	
  	
  	
  =	
  “Taro”	
  
	
  	
  .age	
  	
  	
  	
  =	
  23	
  
	
  	
  .height	
  =	
  170.0	
  

p2	
  
	
  	
  .name	
  	
  	
  =	
  “Jiro”	
  
	
  	
  .age	
  	
  	
  	
  =	
  19	
  
	
  	
  .height	
  =	
  165.0	
  





(Person)	
  
	
  	
  .name	
  	
  	
  	
  =	
  (char)	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  	
  =	
  (floor)	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!”}	
  

p1	
  
	
  	
  .name	
  	
  	
  	
  =	
  “Taro”	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  23	
  
	
  	
  .height	
  	
  =	
  170.0	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!”}	
  

p1.greet()	
  



(Person)	
  
	
  	
  .name	
  	
  	
  	
  =	
  (char)	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  	
  =	
  (floor)	
  
	
  	
  .greet()	
  =	
  {print	
  “My	
  name	
  is	
  ”	
  +	
  self.name	
  +	
  “!”}	
  

p1	
  
	
  	
  .name	
  	
  	
  	
  =	
  “Taro”	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  23	
  
	
  	
  .height	
  	
  =	
  170.0	
  
	
  	
  .greet()	
  =	
  {...}	
  

p1.greet()	
  	
  

p2	
  
	
  	
  .name	
  	
  	
  	
  =	
  “Jiro”	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  19	
  
	
  	
  .height	
  	
  =	
  165.0	
  
	
  	
  .greet()	
  =	
  {...}	
  

p2.greet()	
  	
  



• 

(Person)	
  
	
  	
  .name	
  	
  	
  	
  =	
  (str)	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  	
  =	
  (floor)	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!”}	
  

(Student)	
  
	
  	
  .name	
  	
  	
  	
  =	
  (str)	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  	
  =	
  (floor)	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!”}	
  
	
  	
  .school	
  	
  =	
  (str)	
  



(Person)	
  
	
  	
  .name	
  	
  	
  	
  =	
  (str)	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  	
  =	
  (floor)	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!”}	
  

(Student)	
  super:	
  Person	
  
	
  	
  .name	
  	
  	
  	
  =	
  (str)	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  	
  =	
  (floor)	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!}	
  
	
  	
  .school	
  	
  =	
  (str)	
  

s1	
  
	
  	
  .name	
  	
  	
  	
  =	
  “Show”	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  16	
  
	
  	
  .height	
  	
  =	
  158.0	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!”}	
  
	
  	
  .school	
  	
  =	
  “XY	
  high	
  school”	
  



(Person)	
  
	
  	
  .name	
  	
  	
  	
  =	
  (str)	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  (int)	
  
	
  	
  .height	
  	
  =	
  (floor)	
  
	
  	
  .greet()	
  =	
  {print	
  “Hello!”}	
  

(Student)	
  super:	
  Person	
  
	
  	
  .school	
  	
  =	
  (str)	
  
	
  	
  .greet()	
  =	
  {print	
  “I	
  am	
  a	
  ”	
  +	
  self.school	
  +	
  “	
  student!”}	
  

s1	
  
	
  	
  .name	
  	
  	
  	
  =	
  “Show”	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  16	
  
	
  	
  .height	
  	
  =	
  158.0	
  
	
  	
  .greet()	
  =	
  {...}	
  
	
  	
  .school	
  	
  =	
  “XY	
  high	
  school”	
  

p1	
  
	
  	
  .name	
  	
  	
  	
  =	
  “Taro”	
  
	
  	
  .age	
  	
  	
  	
  	
  =	
  23	
  
	
  	
  .height	
  	
  =	
  170.0	
  
	
  	
  .greet()	
  =	
  {...}	
  
	
  

p1.greet()	
  	
  

s1.greet()	
  	
  





class	
  Person(object):	
  
	
  
	
  	
  	
  	
  def	
  __init__(self,	
  name,	
  age,	
  height):	
  
	
  	
  	
  	
  	
  	
  	
  	
  self.name	
  =	
  name	
  
	
  	
  	
  	
  	
  	
  	
  	
  self.age	
  =	
  age	
  
	
  	
  	
  	
  	
  	
  	
  	
  self.height	
  =	
  height	
  
	
  
	
  	
  	
  	
  def	
  greet(self):	
  
	
  	
  	
  	
  	
  	
  	
  	
  s	
  =	
  “My	
  name	
  is	
  “	
  +	
  self.name	
  +	
  “!”	
  
	
  	
  	
  	
  	
  	
  	
  	
  print	
  s	
  
	
  



class	
  Person(object):	
  
	
  
	
  	
  	
  	
  def	
  __init__(self,	
  name,	
  age,	
  height):	
  
	
  	
  	
  	
  	
  	
  	
  	
  self.name	
  =	
  name	
  
	
  	
  	
  	
  	
  	
  	
  	
  self.age	
  =	
  age	
  
	
  	
  	
  	
  	
  	
  	
  	
  self.height	
  =	
  height	
  
	
  
	
  	
  	
  	
  def	
  greet(self):	
  
	
  	
  	
  	
  	
  	
  	
  	
  s	
  =	
  “My	
  name	
  is	
  “	
  +	
  self.name	
  +	
  “!”	
  
	
  	
  	
  	
  	
  	
  	
  	
  print	
  s	
  
	
  

p1	
  =	
  Person(“Taro”,	
  23,	
  170.0)	
  

p1.greet()	
  

My	
  name	
  is	
  Taro!	
  



class	
  Student(Person):	
  
	
  
	
  	
  	
  	
  def	
  __init__(self,	
  name,	
  age,	
  height,	
  school):	
  
	
  	
  	
  	
  	
  	
  	
  	
  Person.__init__(self,	
  name,	
  age,	
  height)	
  
	
  	
  	
  	
  	
  	
  	
  	
  self.school	
  =	
  school	
  
	
  
	
  	
  	
  	
  def	
  greet(self):	
  
	
  	
  	
  	
  	
  	
  	
  	
  s	
  =	
  “My	
  name	
  is	
  “	
  +	
  self.name	
  +	
  “!”	
  
	
  	
  	
  	
  	
  	
  	
  	
  print	
  s	
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